Name KEY Ver 2

Differential Equations and Linear Algebra 2250 ke

. 12k
MMidterm HExam 2

r . - T @ F “F

Version 2, 22 har 2012 =

oS

Instructions This n-class exam s 3 mnoutes. Noocalenlators, notes, tables or books, No answer choeck 15
expected, Detals connt 304 answers count 17

1 (The 3 Fossibilities with Svimbols)
Let a, b oand ¢ denote constants and conswler the svatem of equations

B — 1 0 i f

= 1 ¢ i 6% —h

le ~ 2 i = b |
(a) [40%| Determine a, b and o suche that e system bas o uonigue solution,

(b)Y [30%] Explain why ¢ 0 and b # 0 implies no solution. lenore any other possible no solution cases.

VO[B0%] Explam why ¢ = & — 0 imphes infuntely many solutions. Ignore any other possible mbmeely

niany solution fu‘q o

() Systoe /ﬁrm“B s awﬁu foluton X < Al o,

Cimis ~f B b C-a -1 © b
a~€ & e | M-b combe{h2)) 5[ © o ¢ | L%
ye-20. 3 e | WY Comnbs (1,3,3) Tesa © ¢ | b43b

s G060 2 S| = e Sy [Uniqne doluhon @ ¢ (Re-5a) o

[b:} I{-E. ou-.-—«t'b*o '_\h.'-h[.a.aff»mww-

-5 © o | L3l rm bastrn ,ﬂ,_,) No j?}fu,ﬁpu
©) The=b=o , T~ T %mt,ammuu) ke

- —\ © ;\M (@I“h‘ﬂm ’)6 = 0 fo it s \
& o \ ) %, do# m:.'l‘ it
SpL o o &ms'-. sttt | Becauwse 3

e & Rex vaniable Teredmre f’L/,\%,Z;.
L 00— remy  golihons

Use this page to start vour solution Attach extra pages as necded.



2950 Fxam 2 S22 [2281ar2012]

Name KEV Ver 2
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3 (Independence and Dependence) Do all parts,
(G [E0%7] State an mdependence test for 4 vectors in 5 Worie the ha potlwesis aud conelision, not just
Hlie avarne of s 1es)
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Deciee if the four rows 0y, /5, 5y 0 are wdependent aond displan the details of the chosen mdependence
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